
INSTALLATION

CUSTOMER SERVICE
877.370.3604 (toll free)

INSTALLATION QUESTIONS
techsupport@kuryakyn.com

or call 715.247.2983

LIMITED WARRANTY
Küryakyn warrants that any Küryakyn products sold 
hereunder, shall be free of defects in materials and 
workmanship for a period of one (1) year from the 

date of purchase by the consumer excepting the 
following provisions:

 
• Küryakyn shall have no obligation in the event 

the customer is unable to provide a receipt showing 
the date the customer purchased the product(s). 

• The product must be properly installed, 
maintained and operated under normal conditions. 

• Küryakyn makes no warranty, expressed or 
implied, with respect to any gold plated products. 

• Küryakyn shall not be liable for any consequential 
and incidental damages, including labor and 

paint, resulting from failure of a Küryakyn product, 
failure to deliver, delay in delivery, delivery in 

nonconforming condition, or for any breech of con-
tract or duty between Küryakyn and a customer.  

• Küryakyn products are often intended for use 
in specific applications. Küryakyn makes no 

warranty if a Küryakyn product is used in 
applications other than intended. 

• Küryakyn electrical products are warranted for 
one (1) year from the date of purchase by the con-

sumer. Components of Küryakyn products containing 
L.E.D.s will be warranted for defects in materials and 
workmanship for 3 years from the date of purchase. 

• Küryakyn makes no warranty of any kind in 
regard to other manufacturer’s products distributed 

by Küryakyn. Küryakyn will pass on all warranties 
made by the manufacturer and where possible, will 

expedite the claim on behalf of the customer, 
but ultimately, responsibility for disposition of the 

warranty claim lies with the manufacturer. 

ABOUT OUR CATALOG
You’ll find all our innovations for H-D, GL and 
Metric Cruisers in our annual catalogs. Order 

online today–select the ”CATALOGS” icon. Each 
Küryakyn® product comes with a Proof-of-Purchase 

good for a complimentary catalog. 
Details in packaging.

Be sure to ask your local dealer about other 
Küryakyn® products, the motorcycle parts and 

accessories designed for riders by riders.

©2005 Küryakyn USA® All Rights reserved.

PartS Included	   
	 2	 Teardrop Tie Down Brackets
	 1	 Hardware Kit
		  4		 5/16-24 x 3/4" Button Socket Cap Screws (BSCS)
		  2		 5/16-24 x 1-1/4" Button Socket Cap Screws (BSCS)
		  2		 5/16-24 x 1-3/4" Button Socket Cap Screws (BSCS)
		  8		 5/16" Flat Washers
		  4		 5/16" ID x 11/16" OD x 4MM Spacer
		  1		 Anti-Seize Packet
	 1	 Installation Instructions

Please read and understand entire instructions before starting installation.

Thank you for choosing Küryakyn!

In order to protect you and others from possible injury
and/or property damage or loss, please pay close attention 
to all instructions, warnings, cautions and attention notes 
regarding the use and care of this product.

CAUTION!	 This indication alerts you to the fact that ignoring the contents described herein 
can result in potential injury or material damage.

ATTENTION!	 This indication alerts you to the fact that ignoring the contents described herein 
may negatively affect product performance and functionality.

Tools Suggested
Set of Hex Wrenches

Strictly observe the following guidelines in order to use the 
product properly and avoid potentially dangerous accidents.

CAUTION!	 See PIC 5 for correct bracket orientation. Mount the brackets so that the large 
portion of the opening is facing downward. Damage to the brackets will occur if mounted 
upside down.

Procedure 
STEP 1	 Read and understand all steps in the instructions before starting the installation. Park 
the motorcycle on a hard, level surface; turn off the ignition and allow the engine to cool.

Heritage Models
step 2	 Remove the two fasteners on the forks (only remove one side at a time); see PIC 1. 
The stock screws will not be reused.

STEP 3	 Place the windshield mounting point assemblies between the forks and the 
Teardrop Brackets.

STEP 4	 Place the Teardrop Brackets in place (PIC 2) over the holes and mounting point 
assemblies. In the top hole, secure using the 5/16-24 x 1-3/4" BSCS and 5/16" Flat Washer. 
In the bottom hole, secure using the 5/16-24 x 1-1/4" BSCS and 5/16" Flat Washer.

926-11HD-0909

      teardrop         tie    down     brac    k ets	    9 2 6

-cont.-

Fits: '86-up flst models (except flsts, flstsc and flstsb)



INSTALLATION

NOTE	 Due to manufacturing tolerances, it may be necessary to use more than one 5/16" Flat Washer 
on each fastener.

ATTENTION!	Use the supplied anti-seize for any chrome-to-chrome fasteners; this will prevent 
galling and make future removal of fasteners easier.

STEP 5	 Tighten all fasteners. Be careful not to overtighten.

ATTENTION!	 It is the installer’s responsibility to ensure that all of the fasteners (including pre-
assembled) are tightened before operation of the motorcycle. Küryakyn will not warranty 
components lost due to improper installation. Periodic maintenance may be required.

Deluxe Models
STEP 1	 Remove the two fasteners on the forks (only remove one side at a time); see PIC 1. The 
stock screws will not be reused.

STEP 2	 Place the Teardrop Brackets in place (PIC 3) over the holes. Place the Chrome Spacers 
from the kit over the holes on the light bar between the light bar and the Teardrop Brackets. In the 
top hole, secure using the 5/16-24 x 1-3/4" BSCS and 5/16" Flat Washer. In the bottom hole, 
secure using the 5/16-24 x 1-1/4" BSCS and 5/16" Flat Washer.

NOTE	 Due to manufacturing tolerances, it may be necessary to use more than one 5/16" Flat 
Washer on each fastener.

ATTENTION!	Use the supplied anti-seize for any chrome-to-chrome fasteners; this will prevent 
galling and make future removal of fasteners easier.

STEP 3	 Tighten all fasteners. Be careful not to overtighten.

ATTENTION!	 It is the installer’s responsibility to ensure that all of the fasteners (including pre-
assembled) are tightened before operation of the motorcycle. Küryakyn will not warranty 
components lost due to improper installation. Periodic maintenance may be required.

Fat Boy Models
STEP 1	 Remove the two fasteners on the forks (only remove one side at a time); see PIC 4. The 
stock screws will not be reused.

STEP 2	 Remove the filler panel from the forks and palce the chrome spacers in place over the 
exposed holes. Place the Teardrop Brackets (PIC 5) over the chrome spacers and secure using the 
5/16-24 x 3/4" BSCS and 5/16" Flat Washers. 

NOTE	 Due to manufacturing tolerances, it may be necessary to use more than one 5/16" Flat 
Washer on each fastener.

ATTENTION!	Use the supplied anti-seize for any chrome-to-chrome fasteners; this will prevent 
galling and make future removal of fasteners easier.

STEP 3	 Tighten all fasteners. Be careful not to overtighten.

ATTENTION!	 It is the installer’s responsibility to ensure 
that all of the fasteners (including pre-assembled) are 
tightened before operation of the motorcycle. Küryakyn 
will not warranty components lost due to improper 
installation. Periodic maintenance may be required.

Page

2
teardrop tie down brackets

PIC. 2

mounting 
point assembly

teardrop 
bracket

PIC. 1

PIC. 4

PIC. 3

PIC. 5


